0.40<p, <0.80, 0/7<|cos(8*)|<1/7

10000

10000

Yielgs

10000

(Odata
—sig+res

='res

Entries 1652
Mean 1.027

Std Dev 0

0.40<p,_<0.80, 3/7<|cos(8*)|<4/7

0.40<p_ <0.80, 6/7<|cos(8*)|<7/7

Odata
=—sig+res
- res

Entries 1864

Mean 1.026

Std Dev 0

Odata
= sig+res

='res

Entries 3046
Mean 1.021]
Std Dev 0

0.40<p_<0.80, 1/7<|cos(8")|<2/7

10000~

1479

10000~

T Entries
o, Mean  1.028
Std Dev 0
Odata 3
—sig+res 1
= res 1
T T T 7 [Envies 2510
Mean 1.024
Std Dev 0
Odata =
=sig+res 1
= res 1
0.40<p_<0.80, 0/7<|cos(6*)|<7/7
j j j T T ! ! Entries 15047
Mean 1.025
Std Dev. 0

60000

O'4O<pT<O'80’ 2/7<|cos(6%)|<3/7
T T T T T T T Tenries 1626
10000f— Mean 1027
Std Dev 0
[ |Odata
[ |—sig+res A
= res
0.40<p_|_<0.80, 5/7<|cos(6*)|<6/7
[~~~ T T T T Tenties 2872
10000 Mean 1.022
Std Dev 0
| [Odata ]
| [=sigtres .
= res 1
[%)
i)
_0_.5000
=
0
0.
.-
M(K",K)
pt_0_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_Inte_Polyl
X
P T T T T T T T T —— -
[ Mean 05013
17 Std Dev 0.2867
[ T
116F | .
115F | b
114F | A | | 3
113:—_‘|_ | | I | | =
112F O | ——= 4
111k | .
P P T P T PR T PR T P
1

0

0.1 02 03 04 05 06 07 08 09




0.80<p, <1.20, 0/7<|cos(8*)|<1/7

30000

Booo
2

10000

0.80<p, <1.20, 3/7<|cos(8*)|<4/7

(Odata
—sig+res
= res

Mean 1.024
Std Dev 0

Entries 9076

40000

30000

0.80<p_ <1.20, 6/7<|cos(8*)|<7/7

Odata
=—sig+res

=res

Entries 10784

Mean 1.023
Std Dev 0

MK K

40000
30000
(2]
°
'@OOO

10000

Odata
= sig+res
= res

Entries 15965

Mean 1.021
Std Dev 0

30000

40000
30000
%)
Shooo
2

10000

0.80<p, <1.20, 1/7<|cos(8")|<2/7

(Odata
—sig+res

= res

Entries 9058

Mean 1.024
Std Dev 0

) VRS R T A R R |

Odata
=sig+res
- res

Entries 11073
Mean 1.023
Std Dev 0

O.80<pT<1.20, 0/7<|cos(8%)|<7/7
10° p—

Yields

Entries 79099
Mean 1.023
Std Dev. 0

0.80<p, <1.20, 2/7<|cos(8*)|<3/7

30000

Entries 9883
Mean 1.024

(Odata
= Sig+res

= res

Std Dev 0

s NN S B |

40000

30000)
%)
Shooo|
2

10000

Odata
= sig+res

= res

Entries 13260
Mean 1.022
Std Dev. 0

i

pt_1_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_inte_Poly1

x10
ALQEF T T T T T T T

405

400

395

390

385

Entries 7
Mean_ = 0.5053

Std Dev_ 0.286
T

0

0.1 02 03 04 05 06 07 08 09 1




1.20<p, <1.80, 0/7<|cos(8¥)|<1/7

30000

(Odata
—sig+res
= res

Entries 14973
Mean 1.022
Std Dev 0

30000

Odata
=—sig+res
- res

Entries 14883
Mean 1.022
Std Dev 0

40000

30000

10000

(Odata
= sig+res

='res

Entries 20417
Mean 1.02
Std Dev 0

1.20<p, <1.80, 1/7<|cos(8")|<2/7

1.20<p, <1.80, 2/7<|cos(6*)|<3/7

I j ! ! T ! ! ! T ! i i Entries 14498
r Mean 1.022
: Odata Std Dev ; 0
30000 . _
| |==sig+res J
[ [=res ]
n J
20000~ _
Q2 r E
> r J
10000 ]
ok =
0.9
MK K
1.20<pT<1.80, 4/7<|cos(8*)|<5/7
T T T T T T e
- Mean 1.022
: Odata Std Dev_ 0
30000}~ . _
| |=sig+res ]
[ |=res i
0 ]
Shoool- ]
Q2 g
>_ L E
10000 ]
ok = i
0.98
M(K",K)
1.20<pT<1.80, 0/7<|cos(8%)|<7/7
10° E—
) j j T j j ! T ! ! ! Entries 111565
[ @ Mean 1.022
I @ Std Dev 0
L (P‘ ]
200}~ . (:) _
L C) : |
g | Lo ]
e | Q1 ]
> [BNO)
100~ 1 _
[ ) _
3 @, J
®
L 3 @ ]
7
-
102

1.04

40000 T T T ' T T " " [ues 140
@D Mean 1.022
Odata Std Dev 0
30000F | —sig+res
= res

pt_2_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_Inte_Poly1

- ! ! ! T ! ! ! T i i i Entries 16955

- Mean 1.021

F Std Dev 0
| |Odata T
30000 . -
[ |=sig+res ]
[ |= res ]
[%2] o .
Shoooo- ]
2 1
>_ L B
10000~ —
of 2

0.98

X
e L L e e
: Mean
405~
400
i !
395 _‘|‘_ [
r |
390 I | |
Sk B
ags]- |
PR FEVTL TPTIY ST FROVE RO POV POV TOP IR

7
0.5041

Std Dev, 0.2865
=

0 01 02 03 04 05 06 07 08 09

N T I B SR



1.80<p, <2.40, 0/7<|cos(8¥)|<1/7

10000~

(Odata
—sig+res
= res

Entries 5284
Mean 1.021]

Std Dev 0

1.80<p, <2.40, 3/7<|cos(6*)|<4/7

10000~

Yields

Odata
=—sig+res
- res

Entries 5877

Mean 1.021]

Std Dev 0

10000

Yiglds

Odata
= sig+res
= res

Entries 7414
Mean 1.02

Std Dev_0.002997

1.80<p, <2.40, 1/7<|cos(8")|<2/7

000

Yielgs

L |Odata
—sig+res

= res

10000

60000

1.80<p, <2.40, 4/7<|cos(8")|<5/7

Mean 1.021
Std Dev 0

Entries 5720

Odata
=sig+res
- res

Entries 6589

T
Y Mean 1.021
'i Std Dev 0
(1
D ]

Entries 43464

Mean 1.021
Std Dev. 0

[%)
S5000]
2
>-
0
0.98
1.80<p_|_<2.40, 5/7<|cos(6*)|<6/7
0000 T T T T T T T T T e es Toss
Mean 1.02
I O data Std Dev 0.002708
= sig+res
[ |- res 1

1.80<p_<2.40, 2/7<|cos(6*)|<3/7

I |Odata
| |=sig+tres

= res

Entries 5535
Mean 1.021
Std Dev 0

pt_3_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_inte_Poly1

x1

106
105
104
103

102

10 | _‘i‘_ |

=

100 | _—‘ = - | -
| |

99

Entries 7
Mean + 0.5053

Std Dev_0.2863

o

0.1 02 03 04 05 0.6 07 08

N

0.9



2.40<p_<3.00, 0/7<|cos(8*)|<1/7

1500

(Odata
—sig+res

='res

Entries 1487
Mean 1.021]
Std Dev 0

1500

000

Yields.

Odata
=—sig+res

=res

Entries 1593
Mean 1.021
Std Dev 0.002911

1500

000~

Yields.

Odata
= sig+res
= res

Entries 1747
Mean 1.02
Std Dev_0.004458

1500

2.40<p, <3.00, 1/7<|cos(8")|<2/7

I |Odata
—sig+res

= res

Entries 1513
Mean 1.02
Std Dev 0.001381

[~ T Entries 1562
- Mean 102
1500~ Std Dev _0.003042
| |Odata ]
[ [=sig+res 1
= res 1
#4000
o
2
>
500
0
0.98
2.40<p_<3.00, 0/7<|cos(8*)|<7/7
[~~~ T Entries 11030
Mean 102
I Std Dev_0.002933
10000 —

2.40<p_<3.00, 2/7<|cos(6*)|<3/7

1500

000

Yields

500

— T T T T T T
Entries 1491

Mean 1.02

Std Dev 0.002229

(Odata
= Sig+res

= res

1500

000

Yields

500

o

Entries 1638
Mean 1.02
Std Dev  0.00361

Odata ]

= sig+res 1

- res ]

pt_4_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_Inte_Poly1

N N P -
18800F Mean  0.4991

L Std Dev 0.2864
18600 E
18400[= —O—_ A -
18200 | —
18000 - .
17800~ —

wETTIRNETI FEETI FRETI FRRTE FRRRE FRRTE ARATY FRNTE FRUTs

0 01 02 03 04 05 06 07 08 09 1



200

100

Yields

300

3.00<p, <4.20, 0/7<|cos(8*)|<1/7

(Odata
—sig+res

='res

Entries 222
Mean 1.021]

Std Dev 0

Odata
=—sig+res

- |=res

Entries 327
Mean 1.02

Std Dev0.002949

3.00<p, <4.20, 6/7<|cos(6")|<7/7

Odata
= sig+res
= res

Entries 346
Mean 1.019

Std Dev_0.004933

3.00<p, <4.20, 1/7<|cos(8")|<2/7

200~

(Odata
—sig+res
= res

Entries 240
Mean 1.021
Std Dev 0

200~

3.00<p, <4.20, 0/7<|cos(8")|<7/7

Odata
=sig+res

= res

Entries 255
Mean 1.02
Std Dev 0

2000

1500

500

Entries 2146
Mean 1.02
Std Dev_0.002266

3.00<p, <4.20, 2/7<|cos(8*)|<3/7

300

200~

Yields

100

(Odata
= Sig+res
- res

Entries 309
Mean 1.02
Std Dev 0.003741

I j ! ! T ! ! ! i Entries 446
- Mean 1.019
- Std Dev 0.006119
Odata
200} [=sigtres
[ [= res
w
E L
Q2
> 100
Op =
0.98 *

pt_5_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_inte_Poly1

3300

3200

3100

3000

2900

2800

UM I U I I IR I I

Entries 7
Mean  0.5023
Std Dev 0.2838

o

0.1 02 03 04 05 06 07 08 09

[N




Yields

Yields

Yields

4.20<p_<5.40, 0/7<|cos(6")|<1/7

| Entries 42
Mean 1.021
10— Std Dev 0.008177
I |Odata
[ |=—sig+res
| |=res
sl
Ofp =
055 T T02 T
M(K* K
4,20<pT<5.40, 3/7<|cos(6%)|<4/7
1 T Entries 27
| Mean 1.016
Std Dev 0.006677
I [Odata [
[ |=—sig+res
5 |- res
[0] S
098
MK K
4,20<pT<5.40, 6/7<|cos(6%)|<7/7
[~ 7 T T T Entries 38
Mean 1.018
10 Std Dev  0.01088
| |[Odata ]
[ |=sig+res 1
[ |=res
sL i
O =
[ L ]
0.98 T 1.02 1047

Yields

Yields

Yields

4.20<p_<5.40, 1/7<|cos(6*)|<2/7

I |Odata
5 [=sig+res

= res

Entries 21

Mean 1.015

Std Dev  0.01099

Odata
=sig+res

Entries 36
1.017
0

Mean
Std Dev

Entries 206
Mean 1.019

Std Dev_0.009043

Yields

Yields

4.20<p_<5.40, 2/7<|cos(6")|<3/7

Entries 14

F Mean 1.029
Std Dev 0

I [Odata

= Sig+res

4.20<p_<5.40, 5/7<|cos(6")|<6/7

[~~~ T 7T T Er;mes : 28
Mean 1.017

: Odata Std Dev f.omog

|l |=sig+tres ]

- |= res 4

3 )

I P S S N A P i

8 1.02 ~71.04

MK K

pt_6_Centrality_9_2nd_Dca_0_Sig_1_Phi_Norm_0_Sigma_0_inte_Poly1

R L A e e L -

[ Mean 0506
70 Std Dev_0.2953
60— ‘ ‘ ‘ — =

[ ‘ | : ‘ ‘ ]
501 | AN -
a0 ‘ ‘ ‘ ‘ ]
30 ‘ -

FITTY FRETE FETTE FRTTI FETTY FRTTI FTTY FRTT P Fen

0 01 02 03 04 05 06 07 08 09 1




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


